Flashback Friday

There are 16 flashback questions for you to try. The answers are on the
end slides.



1) Complete the sentence.

centimetres = | metre

2) How many more children like yellow than red?

10—
8_

Number of children

Red Blue Yellow Green
Favourite colour

3) What is £3 more than 452 p?

4) What is the value of the S digit in 3257



2)

3)

How many metres are equal to 300

centimetres?

Which unit of measurement would you use to

measure the length of the classroom?

centimetres metres millimetres

Draw tally marks to show 2l

Calculate 345 + 472




) Complete.

millimetres = Y centimetres

2) Which unit of measurement is best to measure

the width of your fingernail?

centimetres metres millimetres

3) If one . represents 8 people, what do 5 . represent?

4) What is the product of M and 3?



1) Compare using <, > or =

30 mm O O cm

2) How long is the pack of crayons?
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3) One . represents 8 people.

Use the symbol to represent HO people. .....

Y) Write 25! in words.



1) Complete the sentence.

100 centimetres = | metre

2) How many more children like yellow than red?

10—

7 children

Number of children

Red Blue Yellow Green
Favourite colour

3) What is £3 more than 452 p? £7 and 52 p

H4) What is the value of the S digit in 325? S ones



2)

3)

How many metres are equal to 300

centimetres? 3 metres

Which unit of measurement would you use to

measure the length of the classroom?

centimetres [ metres ] millimetres

Draw tally marks to show 21 At it Hit - |

Calculate 345 + 472 817




1) Complete.

HO millimetres = Y centimetres

2) Which unit of measurement is best to measure

the width of your fingernail?

centimetres metres [ millimeh‘es]

3) If one . represents 8 people, what do 5 . represent?
HO people

Y4) What is the product of H and 3? 42



1) Compare using <, > or =

30 mm @ O cm

2) How long is the pack of crayons?
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3) One . represents 8 people.

Use the symbol to represent HO people. [.....]

4) Write 25! in words.  two hundred and fifty-one

8 cm and S mm




